Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.
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46 x 16 =
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ﬂh Lattice2 by 2 Name:

Answer Key

Use lattice multiplication to solve each problem.

Answers
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D g9x31= 2) 93x58= 3 46x16=
9 9 9 3 4
2 A1
2 3 4/,, i 5 0
3 7 7 5 ,,' 5 / O 4
7 02 2
O O 1 //, 8
0 9 9 3 /,/l 2 4 7 4
6 9 9 . 4 3
Y 74x35= 5 gex28= 6) 30x84=
7 4 9 6 3
A1
2 L7, 1 |2 2
2 1 2 2 [ 8 ] 2 4
2 7 |4 1
3 5 //, 8
5 5 O 6 /// 2 8 5 2
9 0 g8 . 8 2
") 55x37= 8) 43x91= 9 7gx20=
5 5 4 3 7
1 2
1 3 3/, i 9 1
2 5 > 3| 6 1 4
1o |0 0
3 3 7 1
0 5 5 9 // 4 ) 3 5 0
3 5 1 .7 3 6
10) g4x10= 11) 61x10= 12) 47x15=
8 4 6 1 4
0 0
0 1 o/, ! 1 0
0 8 4 0 6 i 0 4
0 o 710 2
0 0 0
8 0 O 6 /,' O 0 7 0
4 0 1 .70 0
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